K.V.M. GLOBAL SCHOOL PAI (KAITHAL)
ENTRANCE TEST (Set-C)

CLASS 9th
TIME: 1:00 HOUR MAX. MARKS: 50
Score: Q
Student's name:- Father's name:-
Contact no. Applied for class:- Medium:-
Previous school name:- Village:-
RNl

1. T3 eafat & Iwarur # TadRat & a7 Qar ¥, 3= FEd &l

(A) 3TeT9ToT (B) HGHTOT (C) FaIY (D) 3EIY

2. IR tafel & ITaRVT # Y fo¥eheldl § -
(A) 7@ & (B) T & (C) a=t & (D) fordY & ofr o1gt
(A) f&er + & (B) By + 3f8  (©) My + 3fd (D) Ry + 3@

w

4. Tt & @ for e & 3T 3T HT G G0 E 2

(A) 3reTeT (B) IO+ (C) faufa (D) 39T Tlr A
5. HEMWTOT guit &7 TEAT &t & -

(A) 10 (B)15 (C) 20 (D) 25

6. AR 9g & gAY § -




(A) FHURT  (B) Sgsher (C) TRy (D) &faT
7. T & UR W a9 & 3¢ & -
(A) 2 (B) 3 (C) 4 (D) 5

8. 3 sg St TAANUT & fIATAr IaT 3¢ FEd &
(A) forar Adwor  (B) wfaQwor  (C) faQwor (D) TIaATfAS faQrwor

9. WWifrd e forar [FAVOT o7 i @1 A § 2
CrAR I BERCIC IR

(A) fdaras (B) TITIardsh (C) Ieardeh (D) IRATOTaTTSH

10. ‘& gof § -
(A) TR (B) gl (C) &g sl (D) AN
ENGLISH

11. Karan and Sita students of class X.

(A) is (B) was (C) were (D) have
12. Either Virat Kohli or Rohit Sharma __ score a century today.

(A) will (B) shall (C) could (D) would
13.  wassaid by both parties.

(A) much (B) more (C) most (D) many
14.He hasgiven __ excuses for not attending the wedding.

(A) many (B) much (C) more (D) most
15.The peonusstanding _ the office.

(A) with (B) outside C)to (D) none




16. The ball is lying the table.

(A) under (B) over C)in (D) none

17. Either ViratKohli___ Rohit Sharma will score will score a century today.
(A) or (B) nor (C) neither (D) none

18. Igave him __ useful gift.
(A) an (B) a (C) the (D) none

19. He said to me, "The earth is round."
(A) He told me that the earth is round.
(B) He told me that the earth is round.
(C) He asked me that the earth is round.
(D) He tells me the earth is round.

20. He is writing a letter.
(A) A letter was being written by him.
(B) A letter is being written by him.
(C) A letter is written by him.
(D) A letter had been written by him.

MATHEMATICS

21. The sum of two rational number is - 3. If one of the number is — 13—0 , the other number is:

&1 URA HEMSH F AT -3 ¥l IR v e -2 ¥ A e T g

17

Ok (8) -~ © - (D) :
22. The value of {(2/-3)*}is:

{(2/-3)% T AT & -




(A) = (B) — = © = (D) -~
23.1fx=3and y = 2, then the value of (x - y)(x2 + Xy +y2) is:

IR =3 3Ry =2 § N (x-y)(&+xy +y2) HT AT § -

(A) 31 ()19 ©1 (D) 25
24.1£2:x:x:8, thenx =

gfg2:x:x:8,& drx=

(A)3 (B) 4 €8 (D) 2
25. The diagonal of rhombus:

Toh FHAJHS & faehol -

(A) are equal (SXTeR 81 &) (B) bisect each other (FHEIHTSIT X §)

(C) bisect each other at 90° (FHHIUT T HHGIAHTAT FId )

(D) none of these (37 & IS eT)

26. If the surface area of a cube is 1734 cm?2, it's volume is:

3R ©eT T e8I & Ahel 1734 cm?2 § dl 3HPT oA Bla-

(A) 4913 (B) 2197 (C) 2744 (D) 4096

27.Volume of a cylinder is:

Solol T 3T ¢ -
(A) rr2h (B) mrh2 (C) mrzh2 (D) 2mrh
28. If we throw a coin, the outcomes will be:

3R §H U fOFe 3oTed § ol Fol TROMH giar -




(A){H, H} B’){T. T} ©){H, T} (D) {T}
29. The point P(0, y) lies on:

forg P(0, y) 3ifehe g -
(A) x-axis (B) y-axis (C) both (D) none
30. What is Euler's Formula.
Euler's § =T &-
(AAV+F+E=2 (B) V+F - E=2 (C)V+F+E=1 (D) V+F+E=3
SCIENCE

31. Choose the odd one out:
fawe 1 gfaw:
(A) embryo (370T) (B) egg (3193) (C) ovum (31UsTY]) (D) gamete (JTHh)

32. The function of saliva is to:

Aol I (AR) T Y &

(A) female anopheles mosquito (FTGT TaTTthellel HTOR)
(B) cockroach (hTehaia)

(C) housefly (B FFHY)

(D) butterfly (fadeln)

33. Ritu is standing in front of a plane mirror the distance between Ritu and her image is 10
meter. If she moves 2 meter towards the mirror, then the distance between Ritu and her

image is:




R v FAder 91 & AHAe @er § R 3R 38 gfafed & da $ g 10
e & Ifg a8 guor it 3R 2 FHex T @ R 3Rk 39 wfafda & dra f g
gIaf:
(A)8m (B)10 m (C)12m (D)6 m
34. Who discovered the electron ?
solgeled Y @eT fhasiehr 2
(A)zinc (FSi=) (B) phosphorus (PREHIRE)
(C) sulphur (Heh) (D) oxygen (3TaReiTST=A)

35. What happens if blue and red litmus papers are put into the tumbler ?

FIT 8T ¢ Ife 3@ ey &7 e 8 o foledd 97 31 o1 & 2
(A) no change in both (G1T & ®I5 IRAdT =Tel gidn)

(B) blue litmus turns red (el folcdd 99 ol &1 ST §
(C) blue litmus remains blue el foed T 93 e & STaT 8)

(D) red litmus turns blue (ITeT foledm@d 9 raT & ST §)
36. Which of the following liquids are conductors of electricity ?
frtfaf@a gdf & & @i & faggd & == §2
(A) vinegar (F&TaT) (B) sugar solution (2TRT AT TaceTTe)
(C) salt solution (¢1a0T &7 fderde) (D) distilled water (3T STel)

37. What is the unit of force ?




g FT SIS FAT & ?

(A) kg (fFe3ame)  (B)kgms™  (C) Newton (vgC1)
38. The formula of speed is:

°Tel I J &-

(A) time x distance (HHI x g1

(B) time = distance (FHT =)

(C) distance/time ({1/&#H)

(D) time/distance (FHI/IN)

39. Which of the following age reproduction part of ginger ?

fefeaa & & HIA-AT 376Ih FHT AT g ?

(A) leaf (T4T) (B) root (313) (C) stem (d=T)

(D) Nms™

(D) seed (S1<1)

40. In plants and trees, water goes up high due to suction pull. Which of the following

phenomena causes this suction pull ?

qredt UF e # Il IR Th qUS-HY0T (FEA9) & HROT g &

frtfof@d & & T aREesr & $ROT § Ig YUUT-HYOT Bl &

(A) photosynthesis (FSTT TRTYOT)
(B) transpiration (aTSAIcdTaT)
(C) respiration (3dHdT)

(D) absorption (37a2ITyOT)




41.

42.

43.

44,

45.

46.

47.

48.

49.

GENERAL KNOWLEDGE

RO T JTUTAT T 1T FAT § 2

(A) TETTE (B) feeel (C) FRvem (D) SR
gRamoT # o frde e & 2

(A) 22 (B) 23 (C) 24 (D) 20

AT I IS B g‘é

(A) 1857 (B) 1757 (C) 1761 (D) 1766
1857 T i gl AT T&-

(A) AS (B) feeelr (C) Sl (D) 3caX Uexr
gRATOT & IGeR FT A a7 ¢ 2

(A) AR oTeT  (B) AfAT & (C) HFd ARV (D) Hadrer
qread T gIT dASTS F A TS ?

(A) 1556 (B) 1561 (C) 1526 (D) 1761
GO I HIH FST foTell it AT & ?

(A) fear (B) foaam (ORECIG (D) siig
gRITOT # gt arel 3ifad ool &7 AT Fa7 § 2

(A) TET gredr  (B) Hard (C) Jerae (D) Sfig
gRATOT # For fohcder AW § 2




(A) 5

(B) 6

(C) 8

5o.mﬁ§mﬁmﬁrm%?

(A)28

(B)29

Introduce yourself within 50 words.

(C) 30

(D) 4

(D)27




